#5/7 (B) Ri5: BRINTSHYR
0 0
@
0 0 0 0
) ®
6 1 3 3 1 0 1
@ @ ©) @
= F
i % = C
F B < N
@ >
A A B 2 B 1 A 2
5878 i 8 M F = FliHE
@| 900 |A1 B4 A4 B1
SHEFCD SHEFCO | USCHEE | BESC
2| 950 |A3 . B2 B3 A2
TEFC #@BF | ACEE | FCNYS
@] 1040 |B1 A4 B4 A1
BESC USCHEIE | 26FC2 | SBFCD
@| 11:30 |B3 A2 A3 B2
ACET FCAYS | wasFc | @
58138 HEFTSY R Ie R1 R2 4th
®| 900 | Doz QDEE | COBE @ ADHE | DORE | QOKE
R0 BEFCD MBE | USCEB | ACRE | 2BFC2 | TEFC
®| 1000 | Gos DOBE | DOBE = QOHE | OORE | AOKE
0| RLESC FC\YS | 26FC@ | W&FC | USCEIB | ACEH
@| 1130 | G@oHE BN
SRR
=B ERBS
E={1 E={1




